ALPHA
‘W ® ‘)‘,(

XiXH(ER) .
ST.HANS GROUP 1 )

b

‘ "””/‘/‘///j'/

ST
i -

A SERIES
STAINLESS STEEL

RACIK & PINION ACTUATOR



ALPHA ABTETSAHGE

A Series

Stainless Steel Actuator
ARSI A FHRITER

%304, 304L. 316. 316L R454RH AT 8,
SR AENE, EEM, BB IR AR,
EATHE *ﬁé%—j@#&né’alﬁ% o

* M E B A Xk, HEA, ¥
ﬁﬁ%‘&ﬁﬁﬁﬁﬁﬁﬁ@,&mﬁﬁ
HER L,

# 7EREHRH @EA LA MARRT IR, HE
V. AR, R FGEK,

x A AT ATEERSE, TIEFFK. A
TR R TR,

A5 F A Leg| e Ao f 55, AW TR, £ F)
HES, WEhER,

*« AR B, A EM, R ER,

* Ab M ——# 5y T Al
Ac Al — {2 AT A
iR E &P R E Ko

* % B B FRALSE R
Mk dhrg . BRI
TR R 2 % FLR ~F 74 NAMUR 47 /85

ARAED R~ 454 NAMUR 4775
J&ARZ R ILR T A4 1SO 5211,
DIN 3337 #7/4, FA2% % R RIS £ 5
[(GRE

* ASTM 304, 304L, 316, 316L stainless steel

pneumatic actuator with electro-polish finish
offer excellent resistance to most corrosive
chemicals as well as industrial atmospheres.
Dual piston rack and pinion design for compact
construction, symmetric mounting position,
high-cycle life and fast operation, reverse
rotation can be accomplished in the field by
simply inverting the pistons.

Multiple bearings and guides on racks and
pistons, low friction, high cycle life and prevent
shaft blowout.

Modular preloaded spring cartridge design, with
coated spring for simple versatile range,
greater safely and corrosion resistance, longer
cycle life.

Precise machined teeth on piston and pinion for
accurate low backlash rack and pinion
engagement, high transmission precision,
maximum efficiency.

Stainless steel fasteners for long term corrosion
resistance.

* Ab model —— one-way adjustment

Ac model —— double adjustment

Can meet the needs of different customers.
Full conformance to the latest specifications:
ISO 5211, DIN 3337 and Namur or product
interchangeability and easy mounting of
solenoids, limit switches and other accessories.

/=



o\
’ 7 D
A Series Stainless SteelActuator t\@%

:\

Lg%  Operating Principle

W AEAH1TEE Double Acting Actuators

CCW

0° close

AD#HS, ERE=SHEHNERE
ESMEFE), EPTTES 5 i
BV $HIER(0—90%), BOHS,

BO#S, EE=SHNEE
BRE, ERITEE%H IR
B $HiE42(90°—07), ADHS,

B{ER#14T2E Spring Return Actuators

90° open

Air to Port A forces the pistons
outwards, causing the pinion to
turn counterclockwise while the
air is being exhausted from Port B.

Air to Port B forces the pistons
inwards, causing the pinion to
turn clockwise while the air is
being exhausted from Port A.

ccw

0° close

AD#HS ER=SREES,
HHBEE@MIMED, RiTHER
i Y $1 450 (0°—90%), BO
H=;

HITHERR, EEEBENN
ERTERIES, 1785 H
MBS £+ £ 501(90°—0°), ADHE

/=
o

I

Air to port A forces the pistons
outwards, causing the springs
to compress, The pinion turns
counterclockwise while air is
being exhausted from port B.

Loss of air pressure on port A,
the stored energy in the springs
forces the pistons inwards. The
pinion turns clockwise while air
is being exhausted from port A.

Sl
A B
90° open
AO#HS, RHEESHNTE
mSMzE, FEHITES 5 I
B $HiE$(90°—0°), BOHS.

BOS, EHR=SIEsNEE
BRIEE, EHITE5%) b
B e (0°—90°), AOHS,

ADHSR ERESeREEN,
HEsEE@INER), HiTE
H I B £ %6 57 (90°—0°), B
OH=;

HiTER AR, EEEHRENN
fER T B A, HiTesk
435 B $H 280 (0°—90°), AO

o

I
1T
A B
0° close

Air to Port A forces the pistons
outwards, causing the pinion
to turn clockwise while the air
is being exhausted from Port B.

Air to Port B forces the pistons
inwards, causing the pinion to
turn counterclockwise while
the air is being exhausted
from Port A.

0° close

Air to port B forces the pistons
outwards, causing the springs
to compress, The pinion turns
counterclockwise while air is
being exhausted from port B.

Loss of air pressure on port A,
the stored energy in the
springs forces the pistons
inwards. The pinion turns
clockwise while air is being
exhausted from port A.



o\
ALPHA
N—t—"®

AZFERTINTE

Bt Fadt

#E Mdel :
F = No.

— [y _. =
DN 2o WO NO U WN =

NN NDNNNNN=2 =2 2 a2
N oA WN - O 0 00N O U B~

20 19 18 1716 15 14

A45-160

4 R Description
¥5 R824 Indicator Screw
$57~2% Indicator
SR Circlip
# B Thrust Washer
SNR - Outside Washer
H{& Body
A F Inside Washer
L% Cam
%40%LEE O-ring (Pinion Top)
4B Bearing (Pinion Top)
#h Pinion
T3 Bearing (Pinion Bottom)
T3hOZE O-ring (Pinion Bottom)
#Z3L Plug
J&ZE Piston
JEZE X ¥ Bearing (Piston)
7EZEOELE O-ring (Piston)
#% Spring
i 2 OZFLRE O-ring (End-Cap)
i 7 B 985T End-Cap Screw
sz End-Cap
BRAZERET Limit screw
PROZEEEE Limit Nut
TEZE SR Guide (Piston)
AT 8848 Adjust Screw
TR Nut (Adjust Screw)
A IREFOEE O-ring (Adjust Nut)

Parts and Materials

10

* NN N N —m — s s s s sy s s s s s

N NN DN NNNOON

guooobobooooooood

100 ouu” bogogog*®
200 oo guoooe

U
U

# #} Standards Material
TF2¥B¥] Polyoxymethylene
T2%# Polyoxymethylene
TEE (304/316) Stainless Steel (304/316)
555N (304/316) Stainless Steel (304/316)
T#2¥%%} Polyoxymethylene

554N (CF8/CF8M) Stainless Steel (CF8/CF8M)

TF2¥¥] Polyoxymethylene
455N (304/316) Stainless Steel (304/316)
SR/ T FE&AR Viton/NBR

TF2¥BE] Polyoxymethylene
54N (304/316) Stainless Steel (304/316)

TF2¥B%] Polyoxymethylene
BRI/ T BERER Viton/NBR
FRIR/T B8R Viton/NBR

AEEIM (CF8/CF8M) Stainless Steel (CF8/CF8M)

TF2¥B%] Polyoxymethylene
FRE/ T FE&AR Viton/NBR
S Spring Steel
SURER/ T FEH&AR Viton/NBR
TEEM (304/316) Stainless Steel (304/316)

(
554N (CF8/CF8M) Stainless Steel (CF8/CF8M)
(

54 (304) Stainless Steel (304)
5B (304) Stainless Steel (304)
T#2#%| Polyoxymethylene
TEEEM (304/316) Stainless Steel (304/316)
TN (304/316) Stainless Steel (304/316)
BRI/ T BFEHRAR Viton/NBR



stk-htt
文本框
本样本中，注意更改以下两个字：
1.所有“O型圈”统一更改为“O形圈”；
2.所有“支撑圈”统一更改为“支承圈”。


#E Mdel :
& = No.

N\
A Series Stainless SteelActuator t\@%

S —1

.7 2

22 2324

28

S—n»
171615 14 S 13
A190-240
4, %R Description ¥ 2 Qty. # %l Standards Material

Fe 888247 Indicator Screw
£7~28 Indicator
4R Circlip
#HH Thrust Washer
SNAF Outside Washer
thjElfk Middle Body
RE K Inside Washer
% Cam
F#OZFE O-ring (Pinion Top)
#h37 4% E Bearing (Pinion Top)
#h Pinion
T #E Bearing (Pinion Bottom)
T#OZFE O-ring (Pinion Bottom)
7&ZE Piston
;EZOZRYE O-ring (Piston)
THEE X #EE Bearing (Piston)
MAOFLE O-ring (Lateral Body)
= X E 24T End-Cap Screw
i E End-Cap
3 Spring
1875 8845 Adjust Screw
18 8 Adjust Nut
JEZESHR Guide (Piston)
B IREFOZEE O-ring (Adjust Nut)
NAMUR# 4R 284 Adapter Plate Assembly
MI4L{A Lateral Body
i &= OZYME O-ring (End-Cap)
&4 Pipe Connector Assembly

e N N _ NN N N N N

N NN = NN NN

|
i

T 2%} Polyoxymethylene
T#2# %l Polyoxymethylene
454N (304/316) Stainless Steel (304/316)
555N (304/316) Stainless Steel (304/316)
TF2# 8l Polyoxymethylene
55N (F304/F316) Stainless Steel (F304/F316)
T#2¥# 8l Polyoxymethylene
TEEN (304/316) Stainless Steel (304/316)
SR/ T &R Viton/NBR
TF2#8%} Polyoxymethylene
555 (304/316) Stainless Steel
T2¥%] Polyoxymethylene
SRR/ T BEHRAZ Viton/NBR
5N (CF8/CF8M) Stainless Steel (CF8/CF8M)
SRR/ T BEHRAZ Viton/NBR
T72¥%] Polyoxymethylene
BRI/ T BEHEAZ Viton/NBR
T4E54M (304/316) Stainless Steel (304/316)
EE5W (304/316) Stainless Steel (304/316)
34N Spring Steel
TEEW (304/316) Stainless Steel (304/316)
T4E55M (304/316) Stainless Steel (304/316)
TFE¥El Polyoxymethylene
SR/ T FEHRAR Viton/NBR
554N (304/316) Stainless Steel (304/316)
AE5M (F304/F316) Stainless Steel (F304/F316)
BRI/ T FEHRAR Viton/NBR
555 (304/316) Stainless Steel (304/316)



ALPHA ABFERIE [ ———

s # R+  Dimension

BIS Mdel : A45-160

=

—
_E_

(|

g 7N +
1 (- > \
E} IR K o1t
— — 2xG1/4
N = G1/4 NAMUR

—-5-



>N
_\‘ ASeries Stainless Steel Actuator ALIPHA

E1S Mdel : A190-240

|
|

SNz N
N2

NP
| H le]
z A B
I |
40
24 20
i i ;:\ @ O
NENY (TR AL \\ y
Y, S AAIE
o
¢ 4
:% | 2xG1/4 4xM5x8
ey f 4xM5x8 % 2xG1/2 4XM6x8
L NAMUR G1/4 NAMUR G1/2 NAMUR
FlSModel | A B © D E F G H J) K M N P Q z

aA-45 28 40 | ®40 | 67 87 45 30 80 ®36 | ®50 | M5x8 | M6x10 | 11 14 150
aA-60 36 44 | ©40 | 83 103 52 30 80 ®36 | ®50 | M5x8 | M6x10 | 14 17 165
aA-85 49 54 | ®40 | 110 | 130 64 30 80 ®50 | @70 | M6x10 | M8x12 | 17 22 203
aA-105 60 63 | ®40 | 135 | 155 75 30 80 ®70 | ®102 | M8x12 [M10x16| 22 26 256
aA-125 70 69 | ®55 | 157 | 177 92 30 130 | @70 | ®102 | M8x12 |M10x16| 22 26 282
aA-140 77 75 | ®55 | 174 | 204 | 105 30 130 | ®102 | ®125 |M10x16|M12x20| 27 32 365
aA-160 88 82 | ®55 | 198 | 228 | 116 30 130 | ®102 | ®125 |M10x16|M12x20| 27 32 425

aA-190 133 | 142 | ®80 | 234 | 264 | 147 30 130 - ®140 - M16x24| 36 40 575
aA-210 143 | 152 | ®80 | 256 | 286 | 154 30 130 - ® 140 - M16x24| 36 40 575
aA-240 160 | 170 | ®80 | 288 | 318 | 174 30 130 - ® 165 - M20x25| 46 50 650




N
ALPHA
S ¢

AZFENTINGE

ES

WAERHITRHIH 1%
Output Torque of Double

Output Torque with Double Acting

A Bt
Output Torque

Acting Actuators

7

/=

712
" Rotation
0° 45° 9°
ARSISHBITEXMERB HAER
Output Torque Table of A Series Pneumatic Actuators with Double Acting Unit: Nm
it SJBES (B) Air pressure(Bar)

Model 2 25 3 4 45 5 55 6 7 8
aA-45DA 6.0 76 9.1 12.1 13.6 15.1 16.6 18.1 21.1 24.2
aA-60DA fl4.2 17.8 21.3 28.4 32.0 35.5 39.1 426 49.7 56.8
aA-85DA 30.8 38.5 46.2 61.6 69.4 77.1 84.8 92.5 107.9 123.3
aA-105DA 65.8 82.2 98.7 131.6 1480 | 164.4 | 1809 | 197.3 | 230.2 | 263.1
aA-125DA 103 128 154 205 231 256 282 308 359 410
aA-140DA 175 219 263 351 395 439 482 526 614 702
aA-160DA 267 334 401 535 601 668 735 802 935 1069
aA-190DA 426 532 638 851 958 1064 170 | 1277 1490 1702
aA-210DA 526 658 789 1052 1184 1316 1447 | 1579 1842 2105
aA-240DA 770 962 1154 1539 1731 1924 2116 | 2309 2693 3078

(e A4  Output Torque with Spring Return

BIERPUTSREH %R

Output Torque of Spring Return Actuators

A\ B A%E A\ BHANE

Output Torque Output Torque
! =3 71z

Rotation Rotation

0° 45° 90° 0° 45° 90° =



A Series Siziniess SteelActyator

g\

SN
ALPHA
N—t—"®

ARSI BIERSE BT R HER

Output Torque of A Series Pneumatic Actuator with Spring Return

unit: Nm
SIREA(E) Air pressure(Bar)
S LA
HAE FEIRE 2 25 3 4 5 6 7 sgﬁﬁzﬂ;%jﬁﬁ
(Model) Sgrt'"g 0° | 90° | 0° | 90° | 0° | 90° | 0° [ 90°| 0° | 90° | o0° | 90°| 0° | 90°| o° | 90°| 90° | o0°
Y- Start | End | Start | End | Start | End | Start | End | Start | End | Start | End | Start | End | Start| End | Start | End
aA-45SR
aA-60SR
aA-85SR
aA-105SR
aA-125SR
aA-140SR
aA-160R




o\
ALPHA
N—t—"0

AZFERTINTE

unit: Nm
SIEES(E) Air pressure(Bar)
; " HER L HE
#1#&(Model) ?’é%)ﬁ& z 29 & S 9 4 . Springs'output
(Spring 90° | 0°
Qty.) Start | End
RN 22O 00N B3 5288222 30 I INRREN | SN U TR N | S | " O [ o LI [ 309 | 160
SO NS S N 2% RO RSIRSOB | 2078 | NI RS IR | N B | - (O | | 371 | 200
7 433 240
aA-190SR | 2N S e (oSSR R [ 5 [ (2 (=5 s 7228 (M550 | W S . i 495 | 280
BRNTOJT T | U FE B R | U A O 829 5T 7028 MO0/ O I/ B0 IS RS N e 557 | 320
e Ol IR e Ll || AR OBIeR, || Gtste) AT AT 0 || e 618 | 360
M|, | 624 | 384 | 837 | 507 | 1050 | 809 |1263 ) 1022 680 | 400
12 742 440
o0 [L2or [TT2oNIRS60) | 258 1IN (NN PO . . " R 1 SRS N A S| R 360 | 260
D6 IR | RS |1 7O (e 2R S0 . |~ [ | e e = — | - 432 | 313
T S (RS S MoS ONIMGZ S5 | R R R | R | S 503 | 365
aA-210SR | ¢ 8 ol | SIS SN I -5 0 415 165 C 7/ S | s e el e | il 575 | A17
oS SR R R R S (1 S0 S |09/ 10 56T SOOI, ey s o s 647 | 469
S0, S [ e N S B W | 1ol (D001 SRS OR 12O M NI U ON NS 2 ORI ISCON 709 | 521
M| 879 | 437 | 942 | 700 | 1205 | 963 | 1468 | 1226 | 791 | 573
12 863 625
5 554 | 410
o AT o7 ies2tlidco | W S T e 665 | 490
| 7 R (SeodlleTo | 9s2 | res G e L | — 775 | 575
anziosr | Sl [ =T | oo /ol e — N A 886 | 6560
9 998 739
| 10 1108 | 821
[ 1 1219 | 903
12 1330 | 985

&% K4#4 Operating Conditions

AN
[E48
CESE
WAE
. T1ER
FRAERY (
ﬂ}'/El I

= 35 F
H/m;_—;tj

|-I>} >

K E=als
AbZ,
cEl,

i

TEIEE

L'

&=

RefE

WASEANBIT

B

ey

&
/:\
55
2~8E (Bar) ,
=
(EATHE1%E 0% ) —20°C ~ +80°C
(fEARETRBRORE ) —40°C ~ +80°C
FAESROEE ) —15°C ~ +150°C
=,
e +5° B,
FFEfL +5° T

TR,

¥{EM2 ~8E (Bar)

TEEZHT, TRAINEBHF,

A EINLEE,
AEA.
10 ( Ber ) o

. Operating media

Dry or lubricated air, the non-corrosive gases.

. Air supply pressure

Double acting: 2 ~ 8 Bar; Spring return: 2 ~ 8 Bar

. Operating temperature

Standard: -20°C ~ +80°C
Low temperature: -40°C ~ +80°C
High temperature: -15°C ~ +150°C

. Travel adjustment

Ab model, Have one-way adjustment range of +5°;
Ac model, Have double adjustment range of £5°.

. Lubrication

Under normal operating condition, need not accrete lubricant.

. Application

Either indoor or outdoor.

. Highest pressure

The maximum input pressure is 10 Bar.

_9_

/P—



>N
=
__\— A Series Stainless SteelActuator ALIPHA

A&  Air Consumption

Zl= FF AR XKE{AFR

Model Volume Opening Volume Closing
0oA-45 0.08 0.11
aA-60 0.2 0.23
oA-85 0.41 0.55
aA-105 0.94 1.18
aA-125 1.47 1.85
aA-140 2.43 3.2
aA-160 3.65 5.03
aA-190 5.9 7.8
aA-210 7.4 9.7
aA-240 11 13.8

FERBIORATHSESD . FRTRE. ARESMEREITEDT:

FHA=SEHR ( FEER+XmER ) <[ (HESED (Kpa) +101.3) +101.3] x XEy/5 4

Air consumption rest with Air Supply. Air volume and Action cycle times, expressions:

L/Min=Air volume(Air volume Opening +Air volume closing)*[(Air Supply(Kpa)+101.3) +101.3]xAction cycle times (/min)

EE&4& Weight Table

#1S Model aA-45 aA-60 aA-85 aA-105 aA-125 aA-140 aA-160 aA-190 aA-210 aA-240
EE Weight(DA) 2.0 3.0 6.4 9.7 14.1 20.9 29.9 81.0 92.6 125.7
F& Weight(SR) 21 3.1 6.8 10.5 15.5 23.2 33.6 87.7 102.2 139.5

#teeti@l  Operation Time

#S Model aA-45 aA-60 aA-85 aA-105 aA-125 aA-140 aA-160 aA-190 aA-210 aA-240
0°- 90°(DA) 0.5 0.7 0.9 1.5 2 2.5 3.5 4 4.5 6
90°- 0°(DA) 0.5 0.7 0.8 1.5 2 2.5 5 5 6
0°- 90°(SR) 1 1.5 2 2.5 3 3.5 5 6 8
90°- 0°(SR) 0.5 0.8 1 1 1< 1.5 1.5 4 5 5)

PATSNENE S B#ER. BER. SESEGHNCVE, SBED, ARSEFFX,
BT LURIEE P B K2 $I S LR EHATRI(ERNE ], 0015

The operating time of the actuators depends on the CV values of th es, regulator valves, pipes. It depends on the air
supply, operating load and so on.

We can custom the size of the holes to meet the require of the operating time of the actuators.

_10_


stk-htt
标注
改为1.5

stk-htt
标注
改为2


TinE S ohizEslzS#HOBRAE
Wuxi St.Hans Air Controls E/l Co.,Ltd.

No.48 Xihong Road, Meicun Industrial Park ,
New Area Wuxi, Jiangsu, China, 214112
Tel'0510 85258503






